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(APPLICATION ORIENTED COURSE) 

APM-01 : INTEGRATED. PEST MANAGEMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question no. 	1 is compulsory. Attempt any 
five questions from questions no. 2 to 7. 

1. (a) Define the following terms : 5x1=5 
(i) Economic Injury Level (EIL) 
(ii) Occasional pest 
(iii) Mechanical control 
(iv) Kairomone 
(v) Pest spectrum 

(b) Expand the following abbreviations : 5x1=5 
(i) 	SIT 

DDVP 
KVK 

(iv) WTO 
(v) GMO 
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(c) Match the terms given in Column I with 
those given in Column II : 

Column I 

5x1=5 

Column II 

(i) Biting and 
Chewing mouth 
parts 

I. Enhances 
toxic effect of 
pesticides 

(ii) Pink bollworm II. Ticks and 
Mites 

(iii) Acaricide III. Pectinophora 
gossypiella 

(iv) Adjuvant W. High toxicity 

(v) Organophosphate V. Grasshopper 

(d) Fill in the blanks : . 	 5x1=5 

(i) 

	

	A pest that routinely inflicts economic 
damage on commercial crops is called 

(ii) The entirety of physical environment 
and all organisms in a defined region 

or area is termed as 	  

(iii) Acquiring the information of objects 

from a distance without direct contact 

with them is called 	  

(iv) Use of sex pheromones of insects in 

pest management is a component of 

	 control. 

(v) Tissue death in a localised region of a 

plant is called 	 
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(e) State whether the following statements are 
true (T) or false (F) : 	 5x1=5 

(i) A locust has three pairs of legs. 

(ii) Nicotine is used as an insecticide. 

(iii) Dysdercus koenigii is an important 
pest of potato. 

(iv) Piercing and sucking type of mouth 
parts are present in bugs and 
mosquitoes. 

(v) One of the direct goals of IPM is to 
promote organic farming. 

2. Differentiate between the following : 

(a) Benefit cost and Benefit risk 

(b) Niche and Habitat 

(c) Parasitoid and Predator 

(d) Physical control and Cultural control 

(e) Insect and Mite 

5x3=15 

Write short notes on any three • of the 
following : 	 3x5=15 

(a) Plant pathogens 

(b) Agro-ecosystem 

(c) Mechanisms of host plant resistance 

(d) Cotton bollworms 
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4. (a) What is a Farmer Field School (FFS) ? 

Briefly explain the FFS concept. 	 7 

(b) What is a plant health clinic ? Discuss its 

principles and scope. 	 8 

5. (a) •Describe the sterile insect technique with 

two successful examples. 	 5 

(b) Explain pest risk analysis. 

(c) Explain the role of food chain in pest 

management. 	 5 

6. (a) What is a biopesticide ? Explain the various 

microbial and botanical pesticides used in 

pest management. 10 

(b) Describe the damage symptoms of crops 

caused by nematode pests. 

7. (a) Describe the application of simulation 

models in pest management. 

(b) What is pesticide resistance ? Discuss its 

importance in IPM. 

(c) Name any five important household pests. 

APM-01 	 4 



	21Tritt cra stoi (*.t. .) 

1:ffiff **I 

x,2018 

(oelciltlrIch 41cktiSh11) 

: 	 141§ch 74144 

flifel :3 E7u2' 
	

aiRiWaV a*: 100 

37-R-  W. 3714-4rif * N77 2 47 r14 	iffy 
3R474- 3m- el-P47 / 

1. () 	 1-,r1tinfifff*If*R : 	5x1=5 

(i) 	3TIRk 	(EIL) 

(iii). 	ch (mu! 

(iv)  

(v) 41-4w 	cto 

	TifkrRr 	cnt 	► ?AR : 5x1=5 

(i) 	SIT 

DDVP 

KVK 

(iv) WTO 

(v) GMO 

APM-01 	 5 	 P.T.O. 



(TT) 4;104i I 311-{ caoii II -4 1 	 Tr7 tr-41TT igreR 

trr-A-7 : 	 5x1=5 

	

chlcisi I 	 aNc1H H 

(i) 	4)(6 311-( 	11 I. I-441-1141*F 

(.1 I' I 
	 1- 111.t)di 	411 

taT 

RN, 	II. 4rT4t 311K 

	

1 ,1R l 	III. t?rt."'re ,d 190 2/i7 	ii4kiCi/ 

(iv) tMeich 	IV. 	I aw ltndl 

(v) aTTi*TTZ V. few 

(v) itw 	At 1:64 Ar-47 : 	 5x1=5 

(i) aikPict) Tfrol ITT AZIN5' 

vcr 	aTrri-* 41-N 19-r-d-r -4,1 
	t I 

(ii) f*Eft 7-* Txrue 511 araWf 05' 4 TFIRI 

	

ca *MIT 	OW* 1:1047F 

TIN 1 iicrK 	 Trixdr 

	cf10 t I 

(iii) 3T 	 kii-44) 4 3Tr7 fog-r 
7 	t 	 Pawl -4 tt-a-ii 31F 

cht-I i 	 4)MCII t 
(iv) ift-4-* 7-4w 4 cAe.1 4-okcr 	tlH Tr 

3q-471- 	 -Pti/u1 	14e.ct) 

t I 

(v) 	trrqtr 	Afgrff 4q-  4 4)(14) 

	 ch0 

APM-01 	 6 



(;) 
 	PH 	 W4TR" FRT (T) 3W4T 

31-ART (F) : 	 5x1=5 

(i) "PC#1 t A)§116 	 

Pct  ;Vii ii  cAr.-114 vEr 4 m3Th alai 
1 

t, 5 	wk7---  

xft-4w t 

(iv) . .Tq 	xErw 	w2rt 	4 
-3-crPm 61 

(v) 511ctii 	rct RT IPM 
3rm-TE11447wtt 

2. 1 	i1 iRaiAt-A•3 VdTF : 	 5x3=15 

() 	MIT WIT-31 H 

Akff err ai-r4R:r 
(Tr) TR—At— TAT mtr 7m-ft 
(E) 141f4-  Pei/ui warr TrIzr 	 
(-t) *rz TT 

3. -14-1 	 11- 	ea.  TR Tifwqr 	 
3x5=15 

(i) TITqcf 	 

TICTITft -4'1 

(TO 11TENt trgq 	Wit 	a 

(34) ct)Ltiti stioci 4 

APM-01 	 7 	 P.T.O. 



4. () %UR 1:4ff i-ato (FFS) ITT 	? FFS 

Oq A etimeil trf*I 	 7 

trgq 1:EfRzEr PK! 	.)(fi ? 1k4 R:r4iff 

wAT chieW.q tr*If-ARI 	 8 

5. ()   z7-474 Teo *at 	 Ich eh Thr 

u1.1 .tif-A7 

(u) tft; Tlfum 	ticAlit9qi 	 5 

(ii) 141-4cb7ii.P• 4 (gm 	14*r 
'Jr-4R I 	 5 

6. () 	 ? 	314tR 4 
u3rt)     fdRN 	'Tin ai-R-4f cr) 

1.11scfriaml 	0,41i tri4RI 	 10 

41:1-1ft Th-40 	1:b7M1 	clic) 

w aul-1 	 tri* 

7. 1:4W 3141TR• 4 arf*R -14-01 	33351z4TT 

qufq trl* 	 5 

INchiRit "511 IT  	? IPM * .1 

	

-A1A=rf4RI 	 5 

	

(Tr) ft4171a Tr-6-- luf .Ektft-40*R-PT c Rl 	5 

APM-01 	 8 	 1,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

